10

| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 = ~ _ _ _ _

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

AT Input, PE2 | 1 FaultTrip Time: -0.271202

AT Input, PE1 11 FaultTrip Time: -0.271202

AT Input, OH I 1 FaultTrip Time] -0.271202

AT Input, TE 1 1 FualtTrip Time:[-0.271202
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 _ _ _ _ _ |

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

| _AT Input, PE2 L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, PEL L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, OH L1 FaultTrip Time: -10.0000. _ _ _ _ |

| _AT Input, TE L1 FualtTrip Time: -10.0000 _ _ _ _ _ |
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 _ _ _ _ _ |

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

| _AT Input, PE2 L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, PEL L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, OH L1 FaultTrip Time: -10.0000. _ _ _ _ |

| _AT Input, TE L1 FualtTrip Time: -10.0000 _ _ _ _ _ |
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 = ~ _ _ _ _

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

AT Input, PE2 | 1 FaultTrip Time: -0.684601

AT Input, PE1 11 FaultTrip Timpe: -0.684601

AT Input, OH 1.1 FaultTrip Time: -0.684601

AT Input, TE 1 1 FualtTrip Timel -0.684601

146545

-20 -15 -10 -5 0 S 10



10

| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 _ _ _ _ _ |

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

| _AT Input, PE2 L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, PEL L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, OH L1 FaultTrip Time: -10.0000. _ _ _ _ |

| _AT Input, TE L1 FualtTrip Time: -10.0000 _ _ _ _ _ |
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 = ~ _ _ _ _

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

AT Input, PE2 1 1 FaultTrip Time: -0.139999

AT Input, PE1 11 FaultTrip Time: -0.139999

AT Input, OH 1.1 FaultTrip Time: -0.139999

AT Input, TE 1 1 FualtTrip Time:1-0.139999
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 = ~ _ _ _ _

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

AT Input, PE2 | 1 FaultTrip Time: -0.300003

AT Input, PE1 1 1 FaultTrip Time: -0.300003

AT Input, OH 1.1 FaultTrip Timel| -0.300003

AT Input, TE 1 1 FualtTrip Time:[-0.300003
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 _ _ _ _ _ |

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

| _AT Input, PE2 L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, PEL L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, OH L1 FaultTrip Time: -10.0000. _ _ _ _ |

| _AT Input, TE L1 FualtTrip Time: -10.0000 _ _ _ _ _ |
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| _DTACq, PE2 L1 FaultTrip Time:_-10.0000 _ _ _ _ _ |

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 _ _ _ _ _ |

| DTACq, OH L1 FaultTrip Time: -10.0000 = _

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

| _AT Input, PE2 L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, PEL L1 FaultTrip_Time: -10.0000 _ _ _ _ |

| _AT Input, OH L1 FaultTrip Time: -10.0000. _ _ _ _ |

| _AT Input, TE L1 FualtTrip Time: -10.0000 _ _ _ _ _ |
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